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ELECTRIC CURRENT, RESISTANCE AND
E.M.F.

Very Short Answer Type Questions

1. The sequence of bands marked on a carbon

resistor are whtie, blue, orange and silver.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5PHxHDbiyngE

Write the value of the resistance with

tolerance?

° Watch Video Solution

2. What is the Sl unit of conductivity ?

° Watch Video Solution

3. what happens to the resistance of a of a
metal wire, when its temperature is reduced to

Kelvin zero?


https://dl.doubtnut.com/l/_5PHxHDbiyngE
https://dl.doubtnut.com/l/_sOYKAiJCU1Zz
https://dl.doubtnut.com/l/_0t6M5iarkxKP

° Watch Video Solution

4. A wire of resistivity pis streched to double

its length. Then its new resistivity will:

o Watch Video Solution

5. What happens to the rest of energy in a

light bulb whose efficiency is so low ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0t6M5iarkxKP
https://dl.doubtnut.com/l/_dLOaya9jXMPg
https://dl.doubtnut.com/l/_SQPw6RedOyKT
https://dl.doubtnut.com/l/_B2NfthcuRSGl

6. What is electrical resistivity of a material?

What is its unit?

o Watch Video Solution

7. Of metal and alloy, which has greater value

of temperature coefficient?

° Watch Video Solution



https://dl.doubtnut.com/l/_B2NfthcuRSGl
https://dl.doubtnut.com/l/_k4yULVmXR4Jj

8. Define electric power and unit of electric

power

o Watch Video Solution

9. What do you mean by temperature co-

efficient of resistance ?

o Watch Video Solution

10. Define electric energy



https://dl.doubtnut.com/l/_QuoPWSAvSaSO
https://dl.doubtnut.com/l/_gx2Z4BHMWvzc
https://dl.doubtnut.com/l/_6uzHMFhON2T5

o Watch Video Solution

1. What is the order of resistivity of an

insulator?

o Watch Video Solution

12. What is ohmic device? Give one example.

o Watch Video Solution



https://dl.doubtnut.com/l/_6uzHMFhON2T5
https://dl.doubtnut.com/l/_gYx6f4xxlJnB
https://dl.doubtnut.com/l/_vmsJkRaLG3iM

13. Define e.m.f of a cell. How can you compare

the e.m.f of the cells using potentiometer.

o Watch Video Solution

14. What is non-ohmic device? Give one

example.

o Watch Video Solution



https://dl.doubtnut.com/l/_NrRWXFJKnGCg
https://dl.doubtnut.com/l/_3nhwKNHgvlKC

15. How does conductivity of a semi conductor

change with the rise in temperature ?

° Watch Video Solution

16. Why are alloys used for making standard

resistance coils?

o Watch Video Solution

17. The conductivity of metals increases with:



https://dl.doubtnut.com/l/_agGxmFcpbiRa
https://dl.doubtnut.com/l/_TAR542N0KoFO
https://dl.doubtnut.com/l/_HRzREJ0V965J

o Watch Video Solution

18. Why are alloys used for making standard

resistance coils?

° Watch Video Solution

19. Why are copper wires used as connecting

wires?

o Watch Video Solution



https://dl.doubtnut.com/l/_HRzREJ0V965J
https://dl.doubtnut.com/l/_EinyGiRNBJCf
https://dl.doubtnut.com/l/_oc5sGVrwaF4h
https://dl.doubtnut.com/l/_DSRmhJSH7Nwd

20. Constantan and maganin are used to make

standard resistance because:

° Watch Video Solution

21. Resistance of a conductor increases with

the rise of temperature, because.

o Watch Video Solution



https://dl.doubtnut.com/l/_DSRmhJSH7Nwd
https://dl.doubtnut.com/l/_yrrIwPkVAk4J

22. Define

one ampere?

o Watch Video Solution

23. What isi the resistance of an ideal

voltmeter and an ammeter?

o Watch Video Solution



https://dl.doubtnut.com/l/_THDHNIO7FJYr
https://dl.doubtnut.com/l/_9bsGY0NMaYHb

24. For alloys the value of temperature Co-

efficient of resistance is high.( True/False)

o Watch Video Solution

25. What is the usually capacity of the fuse

wire in the lien to feed

lights and fuse?

A.both low resistance and low melting

point


https://dl.doubtnut.com/l/_ZnrY70KyKG41
https://dl.doubtnut.com/l/_SXpwblYno6QN

B. high resistance and low melting point

C. low resistance and high melting point

D. both high resistance and high melting

point.

Answer: B

o Watch Video Solution

26. The specific resistance of a condutor

increases with


https://dl.doubtnut.com/l/_SXpwblYno6QN
https://dl.doubtnut.com/l/_o7yF27OqRfrW

A. increase in temperature

B. increase in cross-sectional area

C.decrease in length

D. decrease in cross-sectional area

Answer: A

o Watch Video Solution

27.1 kW h is equal to

A. 36 x 10°J


https://dl.doubtnut.com/l/_o7yF27OqRfrW
https://dl.doubtnut.com/l/_fgkJSK4Gr1wV

B.36 x 10°J

C.36 x 10°°J
D.3.6 x 10~ %J
Answer: A

o Watch Video Solution

Short Answer Type Questions

1. Explain the effect of temperature on the

resistivity of pure semiconductors.


https://dl.doubtnut.com/l/_fgkJSK4Gr1wV
https://dl.doubtnut.com/l/_PK9ftXMix5sw

° Watch Video Solution

2. Difference between ohmic and non ohmic

devices.

o Watch Video Solution

3. A piece of copper and another of
germanium are cooled from room
temperature to 100 K. What will happen to

their conductivities? Explain.

| e |


https://dl.doubtnut.com/l/_PK9ftXMix5sw
https://dl.doubtnut.com/l/_kZxe0n3mfyVc
https://dl.doubtnut.com/l/_sZ39jwpbyS5u

& Wwatch Video Solution I

4.V-| graph for a mettalic wire at two different
temperatures T and 75 is as shown in figure.
WHich of the temperatures 77 and 15 is

higher and why.

o Watch Video Solution



https://dl.doubtnut.com/l/_sZ39jwpbyS5u
https://dl.doubtnut.com/l/_xXWSChLOMxzI

5. On what factors does the internal resitance

of the cell depend?

o Watch Video Solution

6.1s a wire carrying current charged?

o Watch Video Solution

7. What is non-ohmic device? Give

example.

one



https://dl.doubtnut.com/l/_7K1635Gs6p7r
https://dl.doubtnut.com/l/_Kbls76uTjXsP
https://dl.doubtnut.com/l/_Wp5OEse8LZdu

o Watch Video Solution

8. If the electron drift speed is so small and
the electron's charge is small, how can we still
obtain large amount of current in a

conductor?

° Watch Video Solution

9. A large number of free electrons are present

in metals. Why is there ni current in the


https://dl.doubtnut.com/l/_Wp5OEse8LZdu
https://dl.doubtnut.com/l/_8VajKY8VXZAM
https://dl.doubtnut.com/l/_qDxRQHaW9J0h

absence of elctric field across it?

o Watch Video Solution

10. Standard resistance coils are made of

which materials and why ?

° Watch Video Solution

11. Discuss the effect of temperature on

resistivity of metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_qDxRQHaW9J0h
https://dl.doubtnut.com/l/_IjQTBw4aMXzD
https://dl.doubtnut.com/l/_mfB0BD8qCLME

12. Why conducting wires are made of copper?

o Watch Video Solution

13. What is the resistance of a conductor?
State the factors on which resistance of a

conductor depends?

o Watch Video Solution



https://dl.doubtnut.com/l/_mfB0BD8qCLME
https://dl.doubtnut.com/l/_3JrDvdDc7Vwg
https://dl.doubtnut.com/l/_foYsJRKuU6q2

14. What is the difference between e.m.f. and

potential diffrence?

o Watch Video Solution

15. What are ohmic and non-ohmic resistors?

Give one example of each.

o Watch Video Solution



https://dl.doubtnut.com/l/_ttGjrylfWf8l
https://dl.doubtnut.com/l/_AxsjIEaSMT5S

16. What is em.f. of a cell ? On what factors

does its value depend ?

o Watch Video Solution

17. Establish the relation between current and

drift velocity?

o Watch Video Solution



https://dl.doubtnut.com/l/_t5tdM5a1P6JH
https://dl.doubtnut.com/l/_nNDoJy1hgNWp

18. Define drift velocity of electricity and
establish its relation with velocity of the
electrons and the intensity of applied electric

field.

° Watch Video Solution

19. Obtain the condition fo rmaximum current
through a resisitor, when a number of cells are

connected in series.

° Watch Video Solution



https://dl.doubtnut.com/l/_nS3m1sYmsJvp
https://dl.doubtnut.com/l/_Sid8ClfQIFCP

20. Define internal resistance of cell and find

an expression for it.

o Watch Video Solution

21. What is internal resistance of a cell? Derive

an expression for it.

o Watch Video Solution



https://dl.doubtnut.com/l/_Sid8ClfQIFCP
https://dl.doubtnut.com/l/_bPRc9bkpexdu
https://dl.doubtnut.com/l/_BT9FgieIizKX

22. What is internal resistance of a cell? Derive

an expression for it.

o Watch Video Solution

23. The internal resistance of a cell is the

resistance of

o Watch Video Solution



https://dl.doubtnut.com/l/_7v4PPnr0X4Vm
https://dl.doubtnut.com/l/_QD5p6wkGzrlW

24. Derive expression for the total resistance
of a circuit in which a few resistors are

connected in parallel.

o Watch Video Solution

25. Explain colour code for carbon resistors

giving examples.

o Watch Video Solution

Long Answertype Questions


https://dl.doubtnut.com/l/_uA0FnnR4JWqW
https://dl.doubtnut.com/l/_UXuVTmzDFZY9

1. Why are resistance connected in series ?

o Watch Video Solution

2. What is drift velocity of electrons? How do
you explain the flow of current in a conductor

based on this?

o Watch Video Solution



https://dl.doubtnut.com/l/_pUa485r7MehZ
https://dl.doubtnut.com/l/_t2FoJPkefvIZ

3. State Ohm's law and derive it from the basic

ideas of drift velocity of electrons.

° Watch Video Solution

4. Define drift velocity of electricity and
establish its relation with velocity of the

electrons and the intensity of applied electric

field.

o Watch Video Solution



https://dl.doubtnut.com/l/_lH07ObdRxRFo
https://dl.doubtnut.com/l/_oP9ZT6zBpi64
https://dl.doubtnut.com/l/_8Q1iPP5P4Ydg

5. The internal resistance of a cell is the

resistance of

° Watch Video Solution

6. Obtain the condition for maximum current
through a resistor, when a number of cells are

connected in parallel.

° Watch Video Solution



https://dl.doubtnut.com/l/_8Q1iPP5P4Ydg
https://dl.doubtnut.com/l/_YbyFq4l4OTgH

7. Explain the effect of temperature on the

resistivity of pure semiconductors.

° Watch Video Solution

8. What is em.f. of a cell ? On what factors

does its value depend ?

o Watch Video Solution

Numerical Problems


https://dl.doubtnut.com/l/_QAIDNrAa51jY
https://dl.doubtnut.com/l/_nTLFbEflepTJ
https://dl.doubtnut.com/l/_NM1QexsWTg0Q

1. A battery of emf 10 V and internal resistance
2Q) is connected to parallel combination of
two identical resistors of resistance R. Current
in the circuit is 0.5 A. What is the resistance of
each resistor ? Find the terminal voltage of

the battery.

o Watch Video Solution

2. The value of the resistance is 1002 + 5%
Write the corresponding band colours of

resistor.


https://dl.doubtnut.com/l/_NM1QexsWTg0Q
https://dl.doubtnut.com/l/_mIUweyfDf0Cd

° Watch Video Solution

3. Three identical cells each of 2 V and unknow
internal resistance are connected in parallel.
This combination is connected to a 5 ohm
resistor. IF the terminal voltage across the cell
is 1.5 volt, what is the internal resistance of

each cell?

o Watch Video Solution



https://dl.doubtnut.com/l/_mIUweyfDf0Cd
https://dl.doubtnut.com/l/_0pDDvRA0P9Y9

4. A lamp rated 100 W at 220 V is connected to
the mains electric supply. What current is

drawn from the supply line if the voltage is

220V.

o Watch Video Solution

5. Five identical cells each of emf 2 V and
internal resistance r are connected in parallel
and the combination is connected to external

resistance R = 9Q) . If the terminal voltage


https://dl.doubtnut.com/l/_UV7Iit2xeKsH
https://dl.doubtnut.com/l/_1HmSuN67zud1

across the combination is 1.5 V, find the

internal resistance of each cell.

° Watch Video Solution

6. Find the resistance between (a) point A and
point B, and (b) point A and th point C of the

network as shown below :

202 in A1)

° View Text Solution



https://dl.doubtnut.com/l/_1HmSuN67zud1
https://dl.doubtnut.com/l/_aTB6k5oBIIYR

7. Find the resistance between point C and

point B of the network as shown below :

° Watch Video Solution

8. Find the résistance between point A and

point D of the network as shown below :


https://dl.doubtnut.com/l/_aTB6k5oBIIYR
https://dl.doubtnut.com/l/_v4ffDNnoouVa
https://dl.doubtnut.com/l/_eF2axkvfayJ4
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° Watch Video Solution

9. Two resistors when connected together can
produce maximum 25 ohm and minimum 6
ohm resistance. Find the The resistance of

each resistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_eF2axkvfayJ4
https://dl.doubtnut.com/l/_Nu5U9aXO5zHo
https://dl.doubtnut.com/l/_2Xv3r16NQZzf

10. Two resistors when connected together
can produce maximum 40 ohm and minimum
10 ohm resistance. Find the resistance of each

resistor.

° Watch Video Solution

11. Two resistors when connected together can
produce maximum 45 ohm and minimum 10
ohm resistance. Find the resistance of each

resistor.

° Watch Video Solution



https://dl.doubtnut.com/l/_2Xv3r16NQZzf
https://dl.doubtnut.com/l/_D8t3PGWlBcey

12. Calculate the electrical conductivity of the
material of a conductor of length 3m, area of
cross section 0.2 mm? having a resistance of 2

ohm.

° Watch Video Solution

13. A potential difference of 3V is applied
across a conductor of resistance 1.5 Omega.

Calculate the number of electrons flowing


https://dl.doubtnut.com/l/_D8t3PGWlBcey
https://dl.doubtnut.com/l/_AfhO0nshqv6i
https://dl.doubtnut.com/l/_icXBFq5Be9XY

through it in one second. Given charge on

electron,e = 1.6 x 10~ 1°C.

° Watch Video Solution

14. Cacculate the resissivity of the amterial of a
wire 1.0 m long, 04 mm in diameter and

having a resistance of 2.0 ohm.

° Watch Video Solution



https://dl.doubtnut.com/l/_icXBFq5Be9XY
https://dl.doubtnut.com/l/_v0RQMuskyB7h

15. Determine the resistance between
teriminals A and B of the infinite network of

resistances as shown in the figure below.

4 4 Q
A O—rrany A =

2 L2

a0 3
B O LAt et T Farea

o Watch Video Solution

16. Find the equivalent resistance between

terminals A and B of the infinite network of


https://dl.doubtnut.com/l/_ePMcx5OB5AfM
https://dl.doubtnut.com/l/_S85ih8rvdVeO

resistance as shown in the diagram below :

° Watch Video Solution

17. Find the equivalent resistance of the circuit

between term inals A and B as dron shown in


https://dl.doubtnut.com/l/_S85ih8rvdVeO
https://dl.doubtnut.com/l/_W1xi7OtVsDwM

the figure below :

1 N |+ I,
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o Watch Video Solution

18. Mangal's room heater is marked as 1,000 W
-200 V. Find the percentage change in the
power of the heater, if the voltage drops to

160 V.

o Watch Video Solution



https://dl.doubtnut.com/l/_W1xi7OtVsDwM
https://dl.doubtnut.com/l/_L188lz1MA1Vk

19. Munish's room heater is marked as 2000 W
- 200 V. Find the percentage | inte, change in
the power of heater if voltage a pa drops to

180 V.

o Watch Video Solution

20. Jagriti's room heater is marked as 1500 W-
250 V. Find the percentage in the power of

heater if voltage drops to 160 volt.

I o Watch Video Solution


https://dl.doubtnut.com/l/_L188lz1MA1Vk
https://dl.doubtnut.com/l/_zyx97JGa5Sic
https://dl.doubtnut.com/l/_eiwXFSgVUozM

21. A battery of emf. 10 V and internal
resistance 4 ohm is connected to a parallel
combination of two resistors of resistances 10
ohm and 15 ohm. Calculate the terminal

voltage of the battery.

o Watch Video Solution

22. A battery of em.f. 6 volt and internal

resistance 0.4 ohm is connected to a parallel


https://dl.doubtnut.com/l/_eiwXFSgVUozM
https://dl.doubtnut.com/l/_XZEslXibqDyv
https://dl.doubtnut.com/l/_NtVd8DNtGvRG

combination of two resistors of resistances 9
ohm and 6 ohm. Calculate the terminal voltage

of the battery.

° Watch Video Solution

23. A battery of emdf. 9 volt. and internal
resistance 6 ohm is connected to a parallel
combination of two resistors of resistances 20
ohm and 30 ohm. Calculate the terminal

voltage of the battery.

° Watch Video Solution



https://dl.doubtnut.com/l/_NtVd8DNtGvRG
https://dl.doubtnut.com/l/_IzWYHKTurcUv

24. A current of 5.0 A flows through an electric
press of resistance 11€). Calculate the energy

consumed b the press in 5 minutes.

o Watch Video Solution

25. A lamp of 100 W works at 220 volt. What is

its resistance and current capacity?

° Watch Video Solution



https://dl.doubtnut.com/l/_IzWYHKTurcUv
https://dl.doubtnut.com/l/_QDYbmTtrMcIV
https://dl.doubtnut.com/l/_cRIVmR0Vp7LW
https://dl.doubtnut.com/l/_bQDfeV681349

26.60 W-220 V bulb and 100 W-200 V bulb are
connected in parallel to main supply. Which

bulb will draw more current ?

° Watch Video Solution

27. If the internal resistance of the cell is 3
ohm, find the current supplied by the cell in

the circuit shown in figure.

- e P E—
[}

124



https://dl.doubtnut.com/l/_bQDfeV681349
https://dl.doubtnut.com/l/_JTazryzdE8B9

° Watch Video Solution

28. If the internal resistance of the cell is 1.5
ohm, find the current supplied by the cell in

the circuit shown in figure.

o o |

104

-

o Watch Video Solution



https://dl.doubtnut.com/l/_JTazryzdE8B9
https://dl.doubtnut.com/l/_PRIp7m12BRUZ

29. If the internal resistance of the cell is 3
ohm, find the current supplied by the cell in

the circuit shown in figure.

o Watch Video Solution

30. What is resistance of carbon resistance on

which colour of ring in sequence is black,


https://dl.doubtnut.com/l/_oDp6IdxpsOiB
https://dl.doubtnut.com/l/_xbweo36tw0Mm

brown, black and gold ?

o Watch Video Solution

31. A carbon of 47k} is to be marked with
rings of different colours for its identification .

Write the sequence of colours.

o Watch Video Solution

32. Find the total resistance of the network

shown in the figure given below :


https://dl.doubtnut.com/l/_xbweo36tw0Mm
https://dl.doubtnut.com/l/_dqAUGCCVCJ6R
https://dl.doubtnut.com/l/_i4Iyzem3mnC5

o Watch Video Solution

33. Calculate the equivalent resistance
between the points P and of the network

shown in the figure given below :

4Ly 410 AL

P

2L}



https://dl.doubtnut.com/l/_i4Iyzem3mnC5
https://dl.doubtnut.com/l/_i9v6BSXfHWsf

I o Watch Video Solution

34. A letter .A. consists of a uniform wire of
resisrtance .A. one ohm per cm. The sides of
the letter are each 20 cm long and crosspiece
in the middle is 10cm long, while the apex
angle is 60°. Find the resistance of the letter
between two ends of the legs A. and E as

shown in figure given below.
C
1/“
F‘."‘/‘; ‘]: f3
P

r( ('
@/ o, s
) "r.r’ i o
J Rﬁ II“ |;l,

nf \
J v


https://dl.doubtnut.com/l/_i9v6BSXfHWsf
https://dl.doubtnut.com/l/_RVX3ejZ1m699

° Watch Video Solution

35. What is the colour coding of strips on the

carbon resistor of resistances 2002 + 10 % ?

o Watch Video Solution

36. To produce 10° Joules of heat in 10
seconds, how much voltage should be applied

to 100 ohm resistance ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RVX3ejZ1m699
https://dl.doubtnut.com/l/_a4rfWRYFrrn4
https://dl.doubtnut.com/l/_Dy3t1yRNrEmJ

37. A current of 5 ampere flows in a 10 ohm
resistor. Calculate rate of heat energy

produced in the resistor.

° Watch Video Solution

38. A heater is rated as 220 volts, and 880
watts. What is the current drawn by the heater
when connected to a 220 V a.c. mains ?

Calculate the resistance of heater.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Dy3t1yRNrEmJ
https://dl.doubtnut.com/l/_b0dWAi1C100y
https://dl.doubtnut.com/l/_9e0f2qsg5DZI

39. A carbon resistor has three olurs blue,
yellow and red respectively. What will be the

resistance?

° Watch Video Solution

40. A carbon resistor has three olurs blue,
yellow and red respectively. What will be the

resistance?

° Watch Video Solution



https://dl.doubtnut.com/l/_9e0f2qsg5DZI
https://dl.doubtnut.com/l/_8oqSgL9UQZk4
https://dl.doubtnut.com/l/_J25FcaIy7el9

41. The total resistance of two resistors, when
connected in series is 9} and when connected
in parallel, their total resistance ecomes 2().

Find the value of each resistance.

o Watch Video Solution

42. Two resistances are in the ratio of 14. If
these are connected in parallel, their total
resistance becomes 16£2 . Find the value of

each resistance.


https://dl.doubtnut.com/l/_J25FcaIy7el9
https://dl.doubtnut.com/l/_QyLtruuSxFHj
https://dl.doubtnut.com/l/_HJ5f4ddKw2i6

° Watch Video Solution

43. The total resistance of two resistors, when
connected in series is 9(2 and when connected
in parallel, their total resistance ecomes 2f).

Find the value of each resistance.

o Watch Video Solution

44. How will you represent a resistance of

3, 7002 + 10 % by colour code?

| e |


https://dl.doubtnut.com/l/_HJ5f4ddKw2i6
https://dl.doubtnut.com/l/_CmfWwvXsns9w
https://dl.doubtnut.com/l/_o1MRli2TCgnb

& watch Video Solution I

45. Cacculate the resissivity of the amterial of
a wire 1.0 m long, 0.4 mm in diameter and

having a resistance of 2.0 ohm.

° Watch Video Solution

46. A negligible small current is passed
through a wire of length 15 m and uniform

cross section 6.0 X 10~ "m? and its resistance


https://dl.doubtnut.com/l/_o1MRli2TCgnb
https://dl.doubtnut.com/l/_brEVLxyyRZDo
https://dl.doubtnut.com/l/_2Mo3yiwCPgb9

is measured to be 5.02. What is the resistivity

of the material?

° Watch Video Solution

47. A wire of length 2.0 m, diameter 1.0 mm has
50 x 10 3Q (ohm) resistance. Calculate the

resistivity of the material of the wire.

° Watch Video Solution



https://dl.doubtnut.com/l/_2Mo3yiwCPgb9
https://dl.doubtnut.com/l/_VKkzp2bKJO5u

48. A wire has a resistance of 10.5¢2 at 21°C
and 16.4€) at 147° C. The value of temperature

coefficient of resistance is

o Watch Video Solution

49. The resistance of a tungsten filament at
150° C' is 133Q2.What will be its resistance at
500°C? The temperaturecoefficient of

resistance of tungsten at 0°C'is 0.0045°C ~*

o Watch Video Solution



https://dl.doubtnut.com/l/_oypEZIgdRbzf
https://dl.doubtnut.com/l/_uEJuGk2KqMjU

50. A silver wire has a resistance of 2.1() at
27.5°C, and a resistance of 2.7 at 100°C.
Determine the temperature co-efficient of

resistivity of silver.

o Watch Video Solution

51. A parallel combination of three resistors
takes a current of 5A from a 20V supply. If the
two resistors are of 10 ohm and 8 ohm, find

the value of third resistor.


https://dl.doubtnut.com/l/_uEJuGk2KqMjU
https://dl.doubtnut.com/l/_SEwIm9gIjNjr
https://dl.doubtnut.com/l/_IWZKpsZa7Jtr

° Watch Video Solution

52. A parallel combination of 3 resistances
takes a current of 7.5 A from a 30 V supply. If
two resistances are 102 and 122, find the

third resistances.

o Watch Video Solution

53. A series combination of three resistor

takes a current of 2A from a 24 V supply. If the


https://dl.doubtnut.com/l/_IWZKpsZa7Jtr
https://dl.doubtnut.com/l/_yO2jZMpSc8nh
https://dl.doubtnut.com/l/_F5xzygXUoGkS

resistors are in the ratio 1: 2: 3, find the values

f the unknown resistors.

° Watch Video Solution

54. Awire with ana area of cross section as
10mm? has resistance of 50 when a potential
difference across its ends is 25 V. calculate the
drift velocity of electrons. Given the number
density of electron as 5 x 10* electrons per

cubic meter (em _3)

° Watch Video Solution



https://dl.doubtnut.com/l/_F5xzygXUoGkS
https://dl.doubtnut.com/l/_qVza5IBcIBZF

Most Expected Questions

1. Define Sl unit of resistance.

o Watch Video Solution

2. What do you mean by critical velocity?

o Watch Video Solution



https://dl.doubtnut.com/l/_qVza5IBcIBZF
https://dl.doubtnut.com/l/_tol7tbxZEn9R
https://dl.doubtnut.com/l/_NTj6kwxGZykq

3. What do you mean by relaxation time ?

o Watch Video Solution

4. What is the Sl unit of temperature ?

o Watch Video Solution

5. Define the term mobility of charge carriers

in a conductor. Write its Sl unit.

o Watch Video Solution



https://dl.doubtnut.com/l/_OR2Sh0qGCAGj
https://dl.doubtnut.com/l/_dkOkyyb8KIoH
https://dl.doubtnut.com/l/_MlERhP52YHii

6. What do you mean by semiconductors?

o Watch Video Solution

7. What is a thermistor? Write its three

applications.

o Watch Video Solution



https://dl.doubtnut.com/l/_MlERhP52YHii
https://dl.doubtnut.com/l/_6q4inI0GQkih
https://dl.doubtnut.com/l/_j6Uy2gyEzZbz

8. What is the effect of rise in temperature on

the conductivity of copper and silicon ?

o Watch Video Solution

9. When do we connect the resistances in

series and parallel ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6l9unSvNiDVB
https://dl.doubtnut.com/l/_hFSv6VjsfUoE

10. Define resistivity of a material and discuss

the factors on which it depends.

° Watch Video Solution

1. What is electric fuse?Why is its important?

° Watch Video Solution

12. Give the cause of random motion of

electrons in a conductor.



https://dl.doubtnut.com/l/_DYdFwkn19wAM
https://dl.doubtnut.com/l/_JXm19hC7jn6i
https://dl.doubtnut.com/l/_oUMUI9eunaxA

o Watch Video Solution

13.Is internal resistance a defect in the cell?

o Watch Video Solution

14. Write three applications of a thermistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_oUMUI9eunaxA
https://dl.doubtnut.com/l/_huco9M8psv78
https://dl.doubtnut.com/l/_AWIH5FgTAWLz

